
Q.1 Select the most appropriate synonym of the given word.
Lavish

Ans 1. Scarce

2. Bountiful

3. Austere

4. Simple

Question ID : 239087119
Status : Answered

Chosen Option : 2

Q.2 Select the most appropriate antonym of the given word. 
Hidden

Ans 1. Covered

2. Concealed

3. Veiled

4. Apparent

Question ID : 239087121
Status : Answered

Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.
I congratulated him ______ his promotion.

Ans 1. because of

2. due to

3. on

4. to

Question ID : 239087111
Status : Answered

Chosen Option : 3

Q.4 Choose the most appropriate word that can substitute the given group of words.
Group of singers

Ans 1. Choir

2. Council

3. Jury

4. Orchestra

Question ID : 239087125
Status : Answered

Chosen Option : 1
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Q.5 Choose the correctly spelt word.

Ans 1. Allert

2. Excead

3. Equipped

4. Emfasize

Question ID : 239087128
Status : Answered

Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.
Accountable

Ans 1. Blameless

2. Answerable

3. Slack

4. Unreliable

Question ID : 239087120
Status : Answered

Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____ in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.____ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank No. 1.

Ans 1. increase

2. raise

3. decline

4. decrease

Question ID : 239087114
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____ in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.____ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 8

Q.8 Select the most appropriate option for blank No. 2.

Ans 1. at

2. by

3. with

4. on

Question ID : 239087115
Status : Answered

Chosen Option : 3



Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____ in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.____ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 9

Q.9 Select the most appropriate option for blank No. 3.

Ans 1. many

2. little

3. few

4. much

Question ID : 239087116
Status : Answered

Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____ in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.____ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 10

Q.10 Select the most appropriate option for blank No. 4.

Ans 1. point

2. start

3. lead

4. take

Question ID : 239087117
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Obesity is a condition where the body stores excess fat leading to a considerable 1.____ in the
body weight. It is increasing 2.____ a fast pace in our country. It has 3.____ adverse health
effects and can even 4.____ to pre-mature death. The basic cause of obesity is 5.____
imbalance between energy intake and energy expenditure.

SubQuestion No : 11

Q.11 Select the most appropriate option for blank No. 5.

Ans 1. the

2. no

3. one

4. a

Question ID : 239087118
Status : Answered

Chosen Option : 4

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
The people in my office are smarter than other offices. /No error



Ans 1. The people in

2. No error

3. smarter than other offices

4. my office are

Question ID : 239087105
Status : Answered

Chosen Option : 3

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
If he would tried he would have succeeded.

Ans 1. was tried

2. No Improvement

3. is tried

4. had tried

Question ID : 239087108
Status : Answered

Chosen Option : 4

Q.14 Choose the correctly spelt word.

Ans 1. Dielema

2. Dilemma

3. Dilema

4. Dillema

Question ID : 239087127
Status : Answered

Chosen Option : 2

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
The doctor with his interns are due to arrive here by noon. /No error

Ans 1. The doctor with his

2. No error

3. to arrive here by noon

4. interns are due

Question ID : 239087107
Status : Answered

Chosen Option : 4

Q.16 Select the most appropriate option to fill in the blank.
The little puppy was _______ by a speeding car.

Ans 1. run away

2. run over

3. run at

4. run into

Question ID : 239087129
Status : Answered

Chosen Option : 1

Q.17 Choose the most appropriate word that can substitute the given group of words.
Full of criticism and mockery



Ans 1. Cliché

2. Eulogy

3. Praise

4. Satire

Question ID : 239087126
Status : Answered

Chosen Option : 1

Q.18 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
Applications are invite to eligible candidates for the post of Vice Principal in a reputed
school.

Ans 1. No Improvement

2. invited from

3. invited by

4. inviting from

Question ID : 239087109
Status : Answered

Chosen Option : 3

Q.19 Select the most appropriate meaning of the given idiom.
Come to light

Ans 1. To be obscure

2. To be well lit-up

3. To pry a secret

4. To be known publicly

Question ID : 239087123
Status : Answered

Chosen Option : 3

Q.20 Select the most appropriate option to fill in the blank.
The wonderful performance of the maestro left the audience ______.

Ans 1. puzzled

2. hungry

3. sleepy

4. entranced

Question ID : 239087130
Status : Answered

Chosen Option : 4

Q.21 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.
The terrorist was arrested for the first time in December, 2001.

Ans 1. for first timing

2. in the first time

3. for one times

4. No Improvement

Question ID : 239087110
Status : Answered

Chosen Option : 4



Q.22 Select the most appropriate antonym of the given word.
Goodwill

Ans 1. Hostility

2. Felicity

3. Insanity

4. Facility

Question ID : 239087122
Status : Answered

Chosen Option : 1

Q.23 Select the most appropriate option to fill in the blank.
Teachers would like ______ a long holiday.

Ans 1. have

2. having been

3. having for

4. to have

Question ID : 239087112
Status : Answered

Chosen Option : 4

Q.24 Select the most appropriate meaning of the given idiom.
Above one's head

Ans 1. To be very tall

2. Intimate and personal

3. Overhead expenses

4. Beyond one's understanding

Question ID : 239087124
Status : Answered

Chosen Option : 4

Q.25 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.
Mukherjee is a famous politician who is love by most people. /No error

Ans 1. No error

2. is love by most people

3. Mukherjee is a

4. famous politician who

Question ID : 239087106
Status : Answered

Chosen Option : 2

Q.1

Ans

1. 

Section : General Intelligence & Reasoning



2. 

3. 

4. 

Question ID : 239087379
Status : Answered

Chosen Option : 4

Q.2 उस   का चयन     आपस  उसी   है   नीचे  गए
  के   आपस   ।ैह  

बासी : ताजा

Ans 1.  : 

2.  करना : 

3.  : 

4. गहरा : 

Question ID : 239087357
Status : Answered

Chosen Option : 1

Q.3 एक कूट भाषा , ‘EMPTYD’ को ‘CJNQWA’  जाता ।ैह  उसी कूट भाषा  ‘VACANT’ का कोड 
होगा ?

Ans 1. TXAXLQ

2. UYAMYR

3. TXBXLQ

4. UYBYMR

Question ID : 239087361
Status : Answered

Chosen Option : 1

Q.4 नीचे    से उस  को  जो      (?) के  पर आएगी। 

37, 33, 29, 25, ?

Ans 1. 22

2. 19

3. 21

4. 20

Question ID : 239087369
Status : Answered

Chosen Option : 3

Q.5 नीचे    से उस  को  जो      (?) के  पर आएगी। 

72, 69, 64, ?, 48



Ans 1. 57

2. 55

3. 59

4. 54

Question ID : 239087370
Status : Answered

Chosen Option : 1

Q.6 एक कूट भाषा , ‘ALERT’ को ‘11251820’  जाता है और ‘HERD’ को ‘85184’  जाता ।ैह  उसी
कोड भाषा  ‘CLOTH’ का कोड  होगा ?

Ans 1. 31215208

2. 31512207

3. 31215218

4. 38152014

Question ID : 239087363
Status : Answered

Chosen Option : 1

Q.7    से उस  को  जो    तीसरी  से उसी तरह से
 है  तरह से   पहली  से  ।ैह

101 : 10202 :: 107 : ?

Ans 1. 11450

2. 11447

3. 12449

4. 12550

Question ID : 239087371
Status : Answered

Chosen Option : 1

Q.8  + तथा – को  बदल  जाता है तो  समीकरण का मान  होगा?

72 – 91 ÷ 13 × 12 + 6 = ?

Ans 1. 140

2. 144

3. 156

4. 150

Question ID : 239087374
Status : Answered

Chosen Option : 4

Q.9 नीचे  गए  और उनके  को  से     गई जानकारी को  मानते ,
चाहे वे   से   से  लगते ,     गए कौनसा/से ,  का

  से णरसुनअ  करता/करते 

कथन:
I. कुछ बाइक कार 
II. कुछ कार  

:
I. कुछ  बाइक 
II. कोई बाइक  नही ।ैह

Ans 1. केवल  I णरसनुअ  करता ।है



2. या तो  I या  II णरसनुअ  करता ।है

3. केवल  II णरसनुअ  करता ।है

4.   I तथा II णरसनुअ  करत े

Question ID : 239087367
Status : Answered

Chosen Option : 2

Q.10

Ans

1. 

2. 

3. 

4. 

Question ID : 239087376
Status : Answered

Chosen Option : 1

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 239087372
Status : Answered

Chosen Option : 4

Q.12    से उस  को  जो    तीसरे  हूमस  से उसी तरह से
 है  तरह से   हूमस  पहले  हूमस  से  ।ैह  

RAT : UXW :: TOG : ?

Ans 1. WLJ

2. XMD

3. XLC

4. WLC

Question ID : 239087359
Status : Answered

Chosen Option : 1

Q.13



Ans

1. 

2. 

3. 

4. 

Question ID : 239087375
Status : Answered

Chosen Option : 1

Q.14 छ:  L, M, N, P, Q तथा R एक  मे   ओर खुम  करके ठेैब   है (    इसी  
हो)। P तथा M के  तीन   P  भी एक छोर पर  ।ैह  L तथा Q के  केवल तीन  
N, R के  ओर ।ैह  L  एक छोर पर ।ैह  M, P के  ओर ।ैह  
N के  ओर   ठेैब   है?

Ans 1. 4

2. 1

3. 2

4. 3

Question ID : 239087365
Status : Answered

Chosen Option : 3

Q.15 नीचे  गए  और उनके  को  से     गई जानकारी को  मानते ,
चाहे वे   से   से  लगते ,     गए कौनसा/से ,  का

  से णरसुनअ  करता/करते 

कथन:
I. सभी T, M 
II. कोई T, P  ।ैह

:
I. कोई P, M  ।ैह
II. कुछ M, T 

Ans 1.   I तथा II णरसनुअ  करत े

2. केवल  II णरसनुअ  करता ।है

3. कोई भी  णरसनुअ   करता ।है

4. केवल  I णरसनुअ  करता ।है

Question ID : 239087368
Status : Answered

Chosen Option : 2



Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 239087380
Status : Answered

Chosen Option : 4

Q.17 एक कूट भाषा , ‘ROGER’ को ‘5’  जाता है और ‘MOULDS’ को ‘6’  जाता ।ैह  उसी कूट भाषा 
‘PIN’ का कोड  होगा ?

Ans 1. 3

2. 8

3. 4

4. 2

Question ID : 239087362
Status : Answered

Chosen Option : 1

Q.18

Ans

1. 

2. 

3. 



4. 

Question ID : 239087377
Status : Answered

Chosen Option : 1

Q.19    से उस  को  जो    तीसरे  से उसी तरह से 
है  तरह से   पहले  से  ।ैह  

छूना : धकेलना :: बोलना : ?

Ans 1. 

2. 

3. उदास

4. अपराध

Question ID : 239087358
Status : Answered

Chosen Option : 2

Q.20 छ:  J, K, P, R, S तथा T एक के ऊपर एक रखी गयी  (    वे इसी   हो)। R, केवल P
तथा S के ऊपर ।ैह  J तथा S के  चार   K, P से तीन  ऊपर 

 हम इन  को ऊपर से नीचे तक  मे  , तो   का  (J को
छोडकर) बदल जाएगा?

Ans 1. 2

2. 3

3. 1

4. 0

Question ID : 239087366
Status : Answered

Chosen Option : 2

Q.21 नीचे    से उस  हूमस  को  जो      (?) के  पर
आएगा। 

RAB, TDG, VGL, ? , ZMV

Ans 1. XJQ

2. YLR

3. XKQ

4. YKR

Question ID : 239087356
Status : Answered

Chosen Option : 1

Q.22

Ans



1. 

2. 

3. 

4. 

Question ID : 239087378
Status : Answered

Chosen Option : 1

Q.23 एक कूट भाषा , ‘PAPER’ को ‘UFUJW’  जाता ।ैह  उसी कूट भाषा  ‘MOURN’ का कोड  होगा ?

Ans 1. SUBXT

2. RTZWS

3. RTAWS

4. SUAXT

Question ID : 239087360
Status : Answered

Chosen Option : 2

Q.24  समीकरण को सही बनाने के   दो  को आपस  बदलना होगा ?

14 × 16 ÷ 8 + 2 – 1 = 17

Ans 1. × तथा –

2. + तथा ×

3. + तथा ÷

4. – तथा ÷

Question ID : 239087373
Status : Answered

Chosen Option : 2

Q.25 चँाप   D, L, N, O तथा Q एक  मे   ओर खुम  करके    (    इसी 
 हो) । L, O के  ओर   पर   ।ैह  Q, D के तंरुत   ओर   ।ैह  Q तथा N के  दो

    D के  ओर      ?

Ans 1. 2

2. 4

3. 3

4. 1



Question ID : 239087364
Status : Answered

Chosen Option : 4

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 239087502
Status : Answered

Chosen Option : 1

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 239087482
Status : Answered

Chosen Option : 3

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 239087491
Status : Answered

Chosen Option : 4

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 239087490
Status : Answered

Chosen Option : 1

Q.5

Ans

Section : Numerical Aptitude



1. 

2. 

3. 

4. 

Question ID : 239087481
Status : Answered

Chosen Option : 2

Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 239087496
Status : Answered

Chosen Option : 3

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 239087505
Status : Answered

Chosen Option : 4

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 239087501



Status : Answered
Chosen Option : 1

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 239087504
Status : Answered

Chosen Option : 4

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 239087500
Status : Answered

Chosen Option : 2

Q.11

Ans 1. 

2. 

3. 

4. 



Question ID : 239087503
Status : Answered

Chosen Option : 2

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 239087489
Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 239087493
Status : Answered

Chosen Option : 3

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 239087499
Status : Answered

Chosen Option : 2

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 239087484
Status : Answered

Chosen Option : 2

Q.16

Ans 1. 

2. 



3. 

4. 

Question ID : 239087486
Status : Answered

Chosen Option : 1

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 239087494
Status : Answered

Chosen Option : 4

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 239087487
Status : Answered

Chosen Option : 2

Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 239087498
Status : Answered

Chosen Option : 4

Q.20

Ans 1. 

2. 

3. 

4. 



Question ID : 239087485
Status : Answered

Chosen Option : 4

Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 239087483
Status : Answered

Chosen Option : 3

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 239087495
Status : Answered

Chosen Option : 2

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 239087497
Status : Answered

Chosen Option : 1

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 239087492
Status : Answered

Chosen Option : 4



Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 239087488
Status : Answered

Chosen Option : 4

Q.1    का चंाल  वाहन ______ था।

Ans 1. PSLV C-42

2. PSLV C-25

3. PSLV C-45

4. PSLV C-46

Question ID : 239087249
Status : Answered

Chosen Option : 4

Q.2   से  के कारक     है?

Ans 1. ीजंपू

2. 

3. कर

4. 

Question ID : 239087240
Status : Answered

Chosen Option : 3

Q.3    कंपनी ने भारत    से कौन-सा पहला  बनवाया था?

Ans 1.   

2. 

3.  

4. ीरवसे  

Question ID : 239087255
Status : Answered

Chosen Option : 2

Q.4   से कौन-सी     बहने वाली   है?

Ans 1. ईगवे

2. 

3. ाराधशवं

4. मही

Question ID : 239087245
Status : Answered

Chosen Option : 4

Section : General awareness



Q.5   से  अखबार का  दादाभाई नरोजी ने  था?

Ans 1. शोम 

2.  

3. 

4. दावसं  

Question ID : 239087253
Status : Not Answered

Chosen Option : --

Q.6  गायन 'सबद' _______ से  ।ैह

Ans 1.  बरपु

2. 

3.  

4. महावीर ीतयंज

Question ID : 239087232
Status : Answered

Chosen Option : 1

Q.7     SI   है?

Ans 1. लजु

2. 

3. के  एच

4. वॉट

Question ID : 239087247
Status : Answered

Chosen Option : 2

Q.8 भारत    के  , ानूप  समझौता पर  कब  थे?

Ans 1. 1923

2. 1922

3. 1932

4. 1933

Question ID : 239087254
Status : Answered

Chosen Option : 3

Q.9 2011  जनगणना के रासुनअ ,    से       है?

Ans 1. 

2.  

3. बाजपं

4.  

Question ID : 239087239
Status : Answered

Chosen Option : 4

Q.10 नूज  2019 तक   के रासुनअ , जल   कौन है?

Ans 1.  नाथ डेांप



2.  जावड़ेकर

3.   नकवी

4.   तवाखशे

Question ID : 239087242
Status : Answered

Chosen Option : 4

Q.11    2019 कौन है?

Ans 1. नमसु  राव

2. ीषनुाम  

3.  रकशं

4.  वास

Question ID : 239087238
Status : Answered

Chosen Option : 1

Q.12  '   ' का नखेल    है?

Ans 1. जवाहर लाल 

2. कैलाश 

3. नतचे  भगत

4.  शौरी

Question ID : 239087236
Status : Answered

Chosen Option : 4

Q.13   से भारत के   का धंबंस   के  से है?

Ans 1. दानघमे  साहा

2. होमी ज ेभाभा

3.  बोस

4.  बोस

Question ID : 239087246
Status : Answered

Chosen Option : 4

Q.14 पोषण के   के  _______  होता ।ैह

Ans 1.  और 

2. नेथीम

3.   और पानी

4.  , पानी,  और  का 

Question ID : 239087250
Status : Answered

Chosen Option : 4

Q.15 आर.   लेख  से  ?

Ans 1. 

2. 

3. 



4. जरंतश

Question ID : 239087235
Status : Answered

Chosen Option : 4

Q.16 भारत    ______  बनाई जाती ।ैह

Ans 1.  सरकार

2. एसईबीआई (SEBI)

3.  

4. भारतीय  

Question ID : 239087241
Status : Answered

Chosen Option : 4

Q.17 भारत के   से    सबसे ीबलं  ाखेरटत  है?

Ans 1. केरल

2. 

3. 

4. तारजगु

Question ID : 239087252
Status : Answered

Chosen Option : 4

Q.18 2019  ओपन   का एकल   जीता?

Ans 1. ीडंए  मरे

2. नोवाक 

3. रोजर फेडरर

4. राफेल नडाल

Question ID : 239087234
Status : Answered

Chosen Option : 2

Q.19   से   का सही   है?

Ans 1.  - 

2.  - 

3. गरबा - तारजगु

4.  -  

Question ID : 239087233
Status : Answered

Chosen Option : 1

Q.20    बार देश   आपातकाल  घोषणा  गयी है?

Ans 1. तीन बार

2. चार बार

3. दो बार

4. एक बार

Question ID : 239087243



Status : Answered
Chosen Option : 1

Q.21 लनशेन  डंमयाड   _____   ।ैह

Ans 1. तरसू

2. वापी

3. रगनीधांग

4. वड़ोदरा

Question ID : 239087251
Status : Not Answered

Chosen Option : --

Q.22   से कौन-सा कथन लोक सभा के बारे  सही  है?

Ans 1.     स ेलोकसभा के   होती ।है

2. कोई  धन  ह ैया नही? इस  पर  के ातने  का   होगा।

3. धन  केवल लोकसभा  ही शपे   जा सकता ।है

4.  के    केवल लोकसभा  शपे   जा सकता ।है

Question ID : 239087244
Status : Answered

Chosen Option : 2

Q.23 लोक तीगंस  ' डंाम '   से  है?

Ans 1.  

2. 

3.  

4. 

Question ID : 239087231
Status : Not Answered

Chosen Option : --

Q.24   से कौन-सा एक   है?

Ans 1. 

2.  मोनो  (CO)

3.  ऐश

4.  

Question ID : 239087248
Status : Answered

Chosen Option : 1

Q.25   पहली   कौन है?

Ans 1.  ावोतपुकै

2.  

3.  

4. ीरजै  मॉक

Question ID : 239087237
Status : Answered

Chosen Option : 2


